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 SECTION A
1. Write g in decimal form.

Find the roog of equation 2x2+9=9.

1
1

= 7.5 cm, then find the
3. AABC ~ ADEF. If AB = 4 cm, BC =3.5 cm, CA=2.5 cm and DF = 7.5 cm,

perimeter of ADEF.

of the radii.

1

. tangents at the ends
The angle between two radii of circle is 130°. Find the angle between the tang

1

‘; 7. Fi obability
5. A single letter is selected at random from the word PROBABILITY”. Find the pr

that it is vowel. cel . . ~
6. Find the area of largest triangle that can be inscribed in a semi circle of ra
b. Fin

4“"_?_/_»
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~ SECTIONB
7. If n is an odd integer, then show that n2 ~ 1 is divisib]e by 8.

8. Find the value of P for which the following equation has two equal roots
 (P-12+2(P-12)5+2 =0
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'For what value of &, the roots of the quadratic equetton x 4lx 1+ k= Q are t?_a\ Sk J
=Y 1? . : ' | : . | '2
T ;?gie that the sum of the squares of the sides of a rhombus is equal to the sum of the s qua@; :
DTN of its diagonals, 1.c. ‘ N . 4 il e
AB?+BC? + CD2+A1:)32 = AC?+BD ey
A ‘ g L
2y 2 o - ? o 2
10. Evaluate 25~ 063°+1+ 2sin 27
- 3cos?17° - 2 +3cos” 73° 11 2
| _2) and (-3, 4) are collinear
11. Find the value of k, if the points (k 3), (6, 2) an ( ) hlle Akt 2

12, Inthe ﬁgme APB and CQD are semi-circles of diameter 7 cm each, w

22
sexmclrcles of diameter 14 cm each. Fmd the perlmeter of the shaded region. (Use T = 5 )

3 13. Three bells toll at 1ntervals of 9, 12, 15 minutes respectlvely It they start. tolhng together

R after what time will they next toll together? - 3 _ 3
14, Ifx®+x— 12 divides P(x) = x* + ax? + bx — 84 exactly, findaand b.” : 3
- 15, For what Value of a, the pair of hnear equatlons ax + 3y = a-— 3, 12x +ay'=a has no
f solution? ‘ : - 3
- .16, If7 times the 7th term of an A.P is equal to the 11 times its llth term, show that 1ts 18th term
is zero. : Wit Ll ‘ : 3
OR “ .

The sum of first 1'6 terms of an A Pis 112 and sum of its next fourteen terms is 518. Find the

‘ A.P. ,’ : - ; ! N
- 17. Drawa triangle £ ABC w1th side BC = 7 cm, LB 45° £A = 105°, Then construct another
: triangle whose sides are % times the correspondmg 31des of AABC : 3
Find the value of x if PR R R e £ } 3

W

500 _ o ; et L :
4(860 i : cot” 31 }—i’;- sin 90° + 3 tan® 56° x tan? 34° = =
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27.
28.

29.
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2 2
bkl (‘mn 0+ +|tano——L_ | = 20 +sin"0)
cos 0 cos 6 1 —sin%0

Fror - orti
s ntlthcblop Of{l vertical towcr,- the angles of depression of two cars, in the same straight
1 the base of the tower at an mstant, are found to be 45° and 60°. If the cars-are.-100-m-—

apart and on the same side of the tower, find the height of the tower. (Use 3 =1.73) 3

- The mean of the following frequency distribution is 62.8 Find the missing frequency /= 3

Class | 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
Frequency 5 - 8 f 12 7 8

S

A.ll fac.e-cards are removed from the pack of cards. A card is drawn at random. Find the
p10bab1yty that the card drawn is () an ace card, (b) a black card, (c) a spade card. 3
The radii of the circular end of a bucket of height 15 cm are 14 cm and r em (r < 14 cm). If

the volume of the bucket is 5390 cm?, then find the value of 7. [use n= %2-] : 3

7 sECTIOND

If o and B are the zeroes of the quadratic polynomial f{x) = x? + x — 2,_ find the value of

(l _1 ) , 4

o B

Solve graphically the pair of linear equations 4
2x+y =8, x+1=2

Also, find the coordinates of the points where the lines repre$ented by the above equations

meets the x-axis. t 3

Prove that if a line drawn parallel to one side of a triangle intersecting the other two sides,
then it divides the two sides in same ratio. ' 4
Prove that opposite sides of a quadrilateral circumscribing a circle subtended supplementary
angles of the centre of the circle. 3 4
p 80 m, C(_)S % — » show that (m? + n?) cos? B =n 4
cos P sin
If P(x, y) is any point on the line joining the point A(a, 0) and B(0, b), then show that
:E + & =1- 4
a b OR
If the point (a, 0), (0, b) and (1, 1) are collinear, show that ik +% =1.
a

The median of the following data is 20.75. Find the missing frequencies x and y, if the total

] 4

frequency is 100.

Class Interval | 0-5 | 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40
Frequency 7 10 54 13 y 10 14 9
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; J_aiy Pravesh, a juice seller has set-up his juice shop. He has three types of glagses of inner
M a

- diameter 5 ¢m to serve the customers. The height of the glasses is 10 cm.  (Uggwr-

Type A TypeB . s o - TypeC

‘(Aglass with a (Aglass with  (Aglass with conical
plane bottom) . hemispherical . . raised bottom of .,

' j . raised paée)' - height 1.5cm)

fl

He decided to serve the customers in ‘A’ type of glasses.
(i) Find the volume of glass of type A. LA

(@) Which glass has the minimum capacity? v R
(#) Which mathematical concept is used in above problem?
~(iv) By choosinga glass of type A, which value is depicted by jui
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